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The Problem:

A fruit salad consists of blueberries, raspberries, grapes, and cherries. The fruit salad has a total of 280 pieces of

fruit. There are fwice as-many raspberries as blueberries, _ and four times as

many cherries as raspberries.

. heri here in the fruil salad?

The Process:

16 +64 + 192 + 8 =280

R=16
C=64
G=192
B=28

Step Work Explanation
Step 1 R= Raspberries I set up my variables and my equation (which needs to add up
C = Cherries to 280 fruits in the fruit salad).
G = Grapes
B = Blueberries
R+C+G+B=280
Step 2 R=2B I changed everything to a common variable (cherries). I know
G=3C that there are twice as many blueberries as raspberries, 3 times
C=4R as many cherries as grapes, and 4 times as many raspberries as
cherries. Therefore I set up my equation as Y4 of cherries (to
VC+C+3C+ 1% C=280 represent raspberries) + cherries (to represent cherries) + 3
times as many cherries (to represent grapes) + ' of cherries (to
represent blueberries) = 280 total fruit.
Step 3 4 %C =280 I added all the cherries, which equals 4 % cherries = 280.
Step 4 C=064 I divided 280 by 4 3%, which equals 64 cherries. Therefore there
are 64 cherries in the fruit salad.
Step 5 Va(64) + 64 + 3(64) + 5(64) = 280 Checked my work. The equation checks out with 16

raspberries, 64 cherries, 192 grapes, & 8 blueberries adding up
to 280 fruits in the fruit salad.

Reflection: There are numerous ways to solve this problem. My method is probably more complicated than other
methods. I think it’s important for students to be able to solve it in a way that makes sense to them and to compare
methods with other students so that they can see the similarities and differences so that they can eventually build
towards the more efficient abstract method. Doing this math proof process forced me to slow down and think
more about what I was doing in each step. It also took several attempts to fully describe each step and correct my
work. This process also helped to highlight potential roadblocks that students may experience, as I also
experienced problems in assigning the variables accurately. By working through the problem step by step, and
using reading comprehension strategies I can better support students when/if they get stuck. Because there are so
many different ways to solve this problem, it would be interesting to hear how students approach the problem and
see where their thinking differs from my own!




